T2 oA
E2XX=5Q :







eF S EA 4= \\//.
(bug-finder, property-finder) P W H152: dSH
2AF 2457 ' Y H2z: =

(verifier) * H3EZ 0|2




® Motion Planner

kil
o
S
S
I~
~N
ol
V-
+
O
o







=7|—7§3‘|=
9 <V <10 0|0{0} &

—
' class erController{

double K;

L Velocity Planner::PathGenerator(int idx){
u

V = Metric(model.GetEffector(), x_d);




=7|—7§3‘|=
9 <V <10 0|0{0} &

-
class erController{

double K;

;‘ Velocity Planner::PathGenerator(int idx){
|

V = Metric(model.GetEffector(), x_d);




=7|—7§3‘|=
9 <V <10 0|0{Oo} &

-
class erController{

double K;

;‘ Velocity Planner::PathGenerator(int idx){
|

V = Metric(model.GetEffector(), x_d);




=7} &=
9 <V <10 0|0{o} &

' class erController{

double K;

K=1.0;

L Velocity Planner::PathGenerator(int idx){ {
u

V = Metric(model.GetEffector(), x_d);




:7|—7C(‘>|=
9 <V <10 0|0{of &

' class erController{

double K;

K=1.0;

i,
|

| Velocity Planner::PathGenerator(int idx){ |

V = Metric(model.GetEffector(), x_d);




=7|-7C(‘>|=
9 <V <10 0|0fo} &

class erController{

double K;

b .
' void erController::InitParameters(){

K=1.0;

i,
!)

| Velocity Planner::PathGenerator(int idx){

V = Metric(model.GetEffector(), x_d);




=7|-7C(‘>|=
9 <V <10 0|0fo} &

class erController{

double K;

b .
' void erController::InitParameters(){

K=1.0;

i,
!)

| Velocity Planner::PathGenerator(int idx){

V = Metric(model.GetEffector(), x_d);




=7|-7C(‘>|=
9 <V <10 0|0fo} &

class erController{

double K;

b .
' void erController::InitParameters(){

K=1.0;

)

i,
!)

| Velocity Planner::PathGenerator(int idx){

V = Metric(model.GetEffector(), x_d);




=7|-7C(‘>|=
9 <V <10 0|0fo} &

class erController{

double K;

b .
' void erController::InitParameters(){

K=1.0;

)

i,
!)

| Velocity Planner::PathGenerator(int idx){

V = Metric(model.GetEffector(), x_d);




=7|-7C(‘>|=
9 <V <10 0|0fo} &

class erController{

double K;

b .
' void erController::InitParameters(){

K=1.0;

i,
!)

| Velocity Planner::PathGenerator(int idx){

V = Metric(model.GetEffector(), x_d);







o V=f(K) &% 15

®










NEEREE)

o (0924
02| +

I
L

Zt
L

SN J+§>4§>+v)

o Of

e K = {[0.0, 1.0],[5.0, 5.5], [5.0, 5.1}
=V = {[3.6,7.5], [34.5, 50.1], [34.5, 38.2]}
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